Skanes BF
DM-lag IAF M8

IMP o6ver féaltet, 10 bord, 20 par. Antal brickor: 12.

Plac Par Poang Namn MID Klubb
1 15 1.87 Ronny Bengtzon - Lars Durlow 1107 6337 Malmé BK
2 5 1.81 Hans Olsson - Bengt Palsson 13278 6272  Malmd BK
3 2 1.44 Leif Olsson - Jorgen Nielsen 5891 5840 BK Lavec
4 14 1.37 Bonnie Clementsson - Johan Franzén 55628 686 Malmé BK
5 1 0.98 Thomas Andersson - Johan Bennet 15537 93 Overums BK
6 9 0.81 Michael Olsson - Mats Norhager 5768 46709 BK Zonen
7 3 0.77 Lars Becklén - Magnus Wegestal 80419 91149 Malmé BK
8 17 0.61 Hakan Litsegard - Staffan Essén 5536 5529  LUCK
9 11 0.06 Fredrik Jarlvik - Tatyana Trendafilova 4451 35574  Malmé BK
10 8 0.03 Klas Bellander - Osten Svantesson 4541 5765  Malmd BK
11 13 -0.03 Christer Holst - Bjorn Gustavsson 48988 963 Kristianstads BK
12 10 -0.06 Johan Erlandsson - Peter Fredin 17710 2514  Lunds BK - BK Lavec
13 4 -0.61 Bengt Nilsson - Bert Jehpsson 10267 5541  Lunds BK - H86rs BK
14 18 -0.77 Jan-Erik Larsson - Bjorn Fylke 593 4715  Hassleholms BK - Kristianstads BK
15 12 -0.81 Ulf Bogren - Fredrik Wickstrom 486 4496 Hassleholms BK - H66rs BK
16 20 -0.98 Martin Johnsson - Jérgen Andersson 13345 22136 Hassleholms BK
17 7 -1.37 Lars Olsson - Anders Holmgren 38856 11513 BK Zonen
18 19 -1.44 Erik Andersson - Roger Olsson 87985 888 BK Zonen
19 16 -1.81 Pierre Carbonnier - Hakan Tjarnemo 5538 5534  BK Lavec
20 6 -1.87 Linus Olsson - Christian Leo 30150 577 Héassleholms BK
13 4 KD876 Bésta kontrakt 14 » 107 Basta kontrakt 15 4 E53 Basta kontrakt
Nord v D963 3v N =140 Ost vE1052 4% S D -1-100 Syd v K7 54 V =-450
Alla +53 Ingen ¢ 32 NS + EKD932
»E8 & ¢ v & NT #E10932 & ¢ v & NT *K5 & ¢ v & NT
410954 4EKn3 N58967 4Kn83 4 ED6542 N9 6846 4 KD98762 44 N57 4205
v- v Kn8754 S58977 vK73 v84 S 96946 v53 vEDKn106 S 5 7 3 2 4
¢EKD2 +¢64 085 46 6 ¢+ ED85 ¢ Kn109 047 496 +6 ¢ Kn1075 O8 6 8 116
#K9742 %653 V85466 K54  #Kn8 V4749€6 «D64 #EKn8 vV 8 6 8 116
a2 4 K9 4 Kn10
v EK102 v DKn96 v 9842
+ Kn10987 + K764 +84
#DKn10 «D76 #109732
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
11 10 3v N= ¢6 140 51.0 -51.0| 3 18 34 O= vQ -140 0.0 00(14 7 3NN-2 v] -200 82.0 -82.0
13 8 3v N= 3 140 51.0 -51.0| 4 17 24 O+1 vQ -140 0.0 00(20 1 44 V+1 ¢A -450 34.0 -34.0
14 7 2v N+1 3 140 51.0 -51.0| 9 12 34 O= vQ -140 0.0 00| 318 3NDN-2 vQ -500 19.0 -19.0
15 6 4v N-1 +6 -100  -5.0 5.0(11 10 24 V+1 2 -140 0.0 00(13 8 4¢DN-2 +4 -500 19.0 -19.0
20 1 4v N-1 v4 -100 -50 50|13 8 34 0= vQ -140 00 00(15 6 3NDN-2 vJ -500 19.0 -19.0
9 12 44 0= *Q -130 -15.0 15.0(14 7 24 O+1 vQ -140 00 00(|16 5 4¢DN-2 &4 -500 19.0 -19.0
3 18 4vy N-2 »6 -200 -32.0 32.0(15 6 34 0= v] -140 0.0 00| 4 17 54DN-3 44 -800 -48.0 48.0
4 17 4vyDN-1 v4 -200 -32.0 32.0(16 5 24 O+1 vQ -140 0.0 00| 9 12 3NDN-3 T -800 -48.0 48.0
16 5 4v N-2 +6 -200 -32.0 32.0(19 2 34 0= vQ -140 0.0 0011 10 3NDN-3 vQ -800 -48.0 48.0
19 2 4¢vDN-1 v4 -200 -32.0 320(20 1 24 O+1 vQ -140 0.0 00(19 2 4¢DN-3 +4 -800 -48.0 48.0
16 43 Bésta kontrakt 17 452 Bésta kontrakt 18 &« E97652 Bésta kontrakt
Vast v EKn963 5¢ N D -3-500 Nord v 1053 74 O =-1510 Ost vED3 44 S =620
ov 410653 Ingen + Kn7542 NS + Kn
#865 & ¢ v & NT #953 & ¢ v & NT +D86 & ¢ v & NT
4 KD975 & EKn8 N3 86 33 4 EKn108 & KD96 N13201 4 K104 43 N6 6 6 107
vKD52 v104 S 386 33 vED72 v 84 S13201 v 1092 v 8754 S 6 6 6 107
*72 ¢+ KD9 085 6 108 ¢+ D10 ¢ E98 O 1210111312 4109653 ¢ KD4 O576 34
%107 #KDKn93 V 856 108 *EK4 «D872 V 1210101312 #K10 #E9732 V5763414
410642 4743 « DKn8
v 87 v KKn96 v KKn6
+ EKn84 + K63 + E872
#E42 #Kn106 #Kn54
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
14 7 3NO-1 ¢4 100 84.0 -84.0| 4 17 44 V +2 2 -480 99.0 -99.0| 3 18 44 N= +Q 620 84.0 -84.0
15 6 44 V-1 6 100 84.0 -840 3 18 64 O= a4 980 -50 50| 9 12 44 S= v9 620 84.0 -84.0
16 5 44 V-1 +5 100 84.0 -84.0|11 10 64 V= +5 980 -5.0 50(15 6 44 N= v5 620 84.0 -84.0
19 2 3NO= v8 -600 -30.0 30.0(14 7 64 V= 2 980 -5.0 50| 4 17 44 N-1 +K -100 -36.0 36.0
3 18 44 V= *5 -620 -37.0 37.0( 9 12 64 O +1 43 -1010 -14.0 14.0|11 10 44 N-1 + K -100 -36.0 36.0
4 17 44 V= +5 -620 -37.0 37.0(13 8 64 O+1 #J -1010 -14.0 14.0(13 8 44 S-1 +3 -100 -36.0 36.0
9 12 44 V= +5 -620 -37.0 37.0(15 6 64 O+1 43 -1010 -14.0 14.0|14 7 44 N-1 v5 -100 -36.0 36.0
11 10 4e V= +5 -620 -37.0 37.0(16 5 64 O+1 «J -1010 -140 140|16 5 44 N-1 + K -100 -36.0 36.0
13 8 44 0= a2 -620 -37.0 37.0(19 2 64 O+1 43 -1010 -14.0 14.0|19 2 44 N-1 v8 -100 -36.0 36.0
20 1 44 0= v8 -620 -37.0 37.0(20 1 64 O+1 43 -1010 -14.0 14.0(20 1 44 S-1 v2 -100 -36.0 36.0
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19 4 K64 Basta kontrakt 20 & KKn9 Basta kontrakt 21 4~ E8 Basta kontrakt
Syd v 108743 5NT O =-660 Vast v2 2NTV =-120 Nord vED43 34 OD-1100
ov ¢ K43 Alla ¢ DKn8653 NS ¢ KD32
»62 & ¢ v & NT *873 & ¢ v & NT #Kn42 & ¢ v & NT
4Kn9752 &EI10 N6 2432 « E64 # 10752 N48545 4 K1053 497642 N6 9958
v Kn6 v KD92 S6 2432 vKKn5 vE1084 S48545 v 107 v K952 S69 9538
¢ DKn975 ¢ E102 O 7 119 1011 +974 +102 08588 8 ¢E4 + 86 06 3 484
&K #E543 vV 7 109 1010 #KKn94 #ED5 V85888 #KD853 #76 V63484
« D83 « D83 # DKn
vE5 vD9763 v Kn86
+ 86 ¢ EK ¢ Kn10975
#DKn10987 #1062 #E109
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
14 7 3¢ V+1 *6 -130 75.0 -75.0(13 8 3v V-2 +5 200 59.0 -59.0| 3 18 3NN+1 v2 630 48.0 -48.0
16 5 3a V= *6 -140 72,0 -72.0({20 1 3¢ N= «5 110 37.0 -37.0| 4 17 3NS+1 K 630 48.0 -48.0
13 8 3#S-3 +Q -150 710 -71.0( 4 17 3+ V-1 v2 100 36.0 -36.0| 9 12 3NN +1 v2 630 48.0 -48.0
11 10 3NO = *Q -600 -23.0 23.0( 9 12 INV= +6 90 -11.0 11.0|19 2 3NN+1 v5 630 48.0 -48.0
19 2 3NO= *Q -600 -23.0 23.0(11 10 INV= +5 -90 -11.0 11.0|11 10 3NN= 6 600 41.0 -41.0
9 12 44 O= *Q -620 -30.0 30.0(14 7 INV= +5 90 -11.0 11.0|15 6 3NN= «2 600 41.0 -41.0
4 17 3NO+1 *Q -630 -31.0 31.0(15 6 24 V= v2 -110 -18.0 18.0(13 8 2NN +2 v5 180 -37.0 37.0
15 6 3NO+1 *J -630 -31.0 31.0( 3 18 INO+1 v3 -120 -21.0 21.0(14 7 3NN-1 a2 -100 -79.0 79.0
318 3NO+2 *Q -660 -40.0 40.0(19 2 INV+1 v2 -120 -21.0 21.0(16 5 3NN-1 a2 -100 -79.0 79.0
20 1 3NO+2 *Q -660 -40.0 40.0(16 5 3¢DN-1 T -200 -39.0 39.0{20 1 3NN-1 a4 -100 -79.0 79.0
22 & K2 Bésta kontrakt 23 « EKD984 Bésta kontrakt 24 aD Bésta kontrakt
Ost v 1086 5 S D -2-300 Syd vED9 4¢ N =130 Vast v EKn10 6% N =920
oV + D875 Alla ¢ E73 Ingen + D7
#EKn53 & ¢ v & NT *4 & ¢ v & NT #ED108753 & ¢ v & NT
«ED985 4Knl10763 N 9 9 3 3 7 «Kn75 410632 N 9 105 8 7 «E107 4K85432 N 12109 6 10
vEKKn2 v9543 S99437 vKn865 vK10732 S99576 v 98654 v32 S 12109 6 10
+ K96 *2 04 49 106 ¢+ D4 ¢ K102 043856 ¢ 965 ¢ K102 002461
*K *764 V 449 106 #ED72 &K V43856 *42 #96 V02461
a4 .- 4 Kn96
v D7 va vKD7
¢ EKn1043 ¢ Kn9865 ¢ EKn843
#D10982 #Kn1098653 #KKn
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
11 10 54 O-1 ¢A 100 74.0 -74.0( 9 12 14 N+3 K 170 48.0 -48.0| 9 12 3NRDS+2 4A 1200 78.0 -78.0
15 6 44 N-1 *2 -50 420 -420|14 7 1la N+3 v2 170 48.0 -48.0|19 2 6 N+1 6 940 29.0 -29.0
318 34 V+1 *7 -170 18.0 -18.0( 3 18 14 N+1 v3 110 28.0 -28.0| 3 18 6# N= «3 920 21.0 -21.0
4 17 1a V+3 v6 -170 18.0 -18.0(20 1 24 N= K 110 28.0 -28.0(11 10 6¢ N= K 920 21.0 -21.0
14 7 34 V+1 *7 -170  18.0 -18.0| 4 17 34 N-1 v2 -100 -21.0 21.0(13 8 6#N-= 2 920 21.0 -21.0
19 2 34 V+1 *7 -170  18.0 -18.0 |11 10 44 N-1 *K -100 -21.0 21.0(15 6 6 N= «3 920 21.0 -21.0
9 12 5¢DS-2 vK -300 -15.0 15.0(13 8 5& N-1 v2 -100 -21.0 21.0({20 1 62 N= 3 920 21.0 -21.0
20 1 54DN-2 4] -300 -15.0 15.0(15 6 34 N-1 v2 -100 -21.0 21.0( 4 17 3NS+4 v4 520 -62.0 62.0
13 8 4e V= *7 -620 -79.0 79.0(16 5 44 N-1 v2 -100 -21.0 21.0(16 5 3NS+3 v4 490 -71.0 71.0
16 5 4e V= *7 -620 -79.0 79.0(19 2 4#DN-1 &K -200 -47.0 47.0(14 7 3NS+1 47 430 -79.0 79.0
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